
Reeks C / Série C / Reihe C 
Antwoorden in de witte vakken. 
Répondre dans les cases blanches. 
Antworten in den weißen Kästchen  
Vraag 
Question 
Frage 

Antwoord 
Réponse 
Antwort 

1  3   
2  248 Euro  
3  21 dozen  
4 x.y.z = -24   
5 y = 4   
6  B   
7 f (a) > 0  
 f’ (a) < 0  
 f” (a) > 0  
8 f(g(3)) = 1   
9 g(π/2) =  1/3   
10 a = 1   
 b = 4   
11 a = -3   
 b = 3   
12 b = -45/2   
13  1   
14 k = -12   
  maximum/minimum   
15 b = 3   
16 a = 5/2   
17 Oppervlakte = 4   
18 Oppervlakte = 70650 cm2  
19  12 %  
20  88 %  
 
 
 

 


